


TABLE INSTRUCTIONS

Cross Braces

REQUIRED TOOLS

(NOT INCLUDED)

- POWER DRILL

- #2 SQUARE DRIVE

- (2) 9/16 WRENCH OR SOCKET
- 7/16" SOCKET

Table Foot

@ HARDWARE N

16 —

3/8" x 3.5" Hex Head Bolts

16 32
3/8" Hex Nuts
Q{ 16
1/4" Flat Washer

16

1/4" x 3.5" Hex Lag

O} |

3/8" Flat Washer

< |

16

#10 x 2.5 Flat Head Screw

HARDWARE &
TOOLS REQUIRED 2/5
FOR ASSEMBLY




TABLE INSTRUCTIONS STEP 2

STEP 1

COUNTERSINK
HOLES FACING UP

3/5




TABLE INSTRUCTIONS

STEP 3

Attach leg assembly with table
upside down - leave bolts loose.

Flip table right side up then fully

tighten all bolts.

77

4/5




TABLE SPECIFICATIONS

0 3
“
73.50
L
N
cr)“
] ] - g 1.50
51725 e
4425

CONSTRUCTION MATERIALS:
Recycled Plastic
HARDWARE:

Stainless Steel

ALL DIMENSIONS SHOWN IN INCHES

26.75







HARDWARE N

BENCH INSTRUCTIONS
C
4

3/8" x 3" Button Head Cap Screws

4

3/8" Hex Nuts
1 2
Seat Assembly Leg Assembly 8

3/8" Flat Washer

2 i

<
4
REQUIRED TOOLS Truss Lag Screw
(NOT INCLUDED)
- POWER DRILL
-7/32 ALLEN WRENCH NOTE: IT IS IMPORTANT TO KEEP ALL

HARDWARE &
TOOLS REQUIRED 2/4
FOR ASSEMBLY

- 9/16 WRENCH SCREWS LOOSE DURING ASSEMBLY
K- T30 TORX BIT UNTIL ENTIRE BENCH IS ASSEMBLED




N
4
O
-
(8
-
14
-
N
<
L
(S
<
LU
m

314

STEP 1




BENCH SPECIFICATIONS

58.00

4.31
o
o
o

-
17.25 |
|
L]
[ ]
_

1.50

55.00

L

1
1l

[

1

»

N

(00

CONSTRUCTION MATERIALS:

Recycled Plastic

HARDWARE:

Stainless Steel ALL DIMENSIONS SHOWN IN INCHES






CHAIR INSTRUCTIONS

REQUIRED TOOLS
(NOT INCLUDED)

- POWER DRILL

- 7/32 ALLEN WRENCH
- 9/16 WRENCH

K- #2 SQUARE DRIVE

Bench Ends

@ HARDWARE )

iy )

4

3/8" x 3" Button Head Cap Screws

4

3/8" Hex Nufts

8
@\ 3/8" Flat Washer
< | [M]
6

Truss Lag Screw

ey

4

#10 x 2.5 Flat Head Screw

HARDWARE &
TOOLS REQUIRED 2/5
FOR ASSEMBLY




CHAIR INSTRUCTIONS




4/5

STEP 3




CHAIR SPECIFICATIONS

24.09

8.30

36.81

25.55

!4 17.25

CONSTRUCTION MATERIALS:

Recycled Plastic
HARDWARE:
Stainless Steel

ALL DIMENSIONS SHOWN IN INCHES



CF1215 REV# 1

CHAIR INSTRUCTIONS




I )

4

3/8" x 3" Button Head Cap Screws

4

3/8" Hex Nuts

Seat Assembly

8
@\ 3/8" Flat Washer
< | [[W]
6
Truss Lag Screw
Bench Ends ®\\
— | | I
4
REQUIRED TOOLS
(NOT INCLUDED) #10 x 2.5 Flat Head Screw
- POWER DRILL
-7/132 ALLEN WRENCH
- 9/16 WRENCH HARDWARE &

TOOLS REQUIRED 2/5

K- #2 SQUARE DRIVE TOOLS REQUIR




~

CHAIR INSTRUCTIONS

STEP 1 o . (o)

PRE-MARKED
HOLE LOCATION




4/5



CHAIR SPECIFICATIONS

1.50

CONSTRUCTION MATERIALS:
Recycled Plastic
HARDWARE:

Stainless Steel

B 23.50 -

gt

ALL DIMENSIONS SHOWN IN INCHES

24.09

36.81

35.25

17.25




	Instr.-ACF1255-2015
	PAGE 1
	Drawing View176

	PAGE 2
	Drawing View108
	Drawing View109
	Drawing View110
	Drawing View112
	Drawing View117
	Drawing View128
	Drawing View129
	Drawing View130
	Drawing View131
	Drawing View137
	Drawing View162
	Drawing View163
	Drawing View166
	Drawing View177
	Drawing View183
	Drawing View184

	PAGE 3
	Drawing View167
	Detail View AD (2 : 9)
	Drawing View169
	Detail View AE (2 : 11)

	PAGE 4
	Drawing View155
	Detail View AC (1 : 4)
	Drawing View178
	Detail View AG (1 : 4)

	PAGE 1(2)
	Drawing View179
	Drawing View180
	Drawing View181
	Drawing View182


	Instr.-CF1205-2015
	PAGE 1
	Drawing View152

	PAGE 2
	Drawing View108
	Drawing View109
	Drawing View110
	Drawing View112
	Drawing View117
	Drawing View132
	Drawing View153

	PAGE 3
	Drawing View159
	Detail View AB (1 : 6)
	Drawing View161
	Detail View AC (1 : 7)

	PAGE 1(2)
	Drawing View155
	Drawing View156
	Drawing View157
	Drawing View158


	Instr.-CF1210-2015
	PAGE 1
	Drawing View167

	PAGE 2
	Drawing View102
	Drawing View108
	Drawing View109
	Drawing View110
	Drawing View112
	Drawing View117
	Drawing View137
	Drawing View151
	Drawing View153
	Drawing View168
	Drawing View169

	PAGE 3
	Drawing View170
	Drawing View171
	Detail View AF (1 : 6)
	Detail View AG (1 : 6)

	PAGE 4
	Drawing View174
	Drawing View175
	Detail View AH (1 : 7)
	Detail View AI (1 : 7)

	PAGE 1(2)
	Drawing View179
	Drawing View180
	Drawing View181
	Drawing View182


	Instr.-CF1215-2015
	PAGE 1
	Drawing View183

	PAGE 2
	Drawing View102
	Drawing View108
	Drawing View109
	Drawing View110
	Drawing View112
	Drawing View117
	Drawing View137
	Drawing View151
	Drawing View153
	Drawing View168
	Drawing View169
	Drawing View185
	Drawing View186

	PAGE 3
	Drawing View187
	Drawing View188
	Detail View AK (1 : 6)
	Detail View AL (1 : 6)

	PAGE 4
	Drawing View192
	Detail View AM (1 : 7)
	Drawing View194
	Detail View AN (1 : 7)

	PAGE 1(2)
	Drawing View196
	Drawing View197
	Drawing View198
	Drawing View199



